— 1. High-energy, high-AM giant impacts

2. Radiation causes
produce synestias

condensation at the
photosphere and
torrential rain

-

Specific entropy

4. Condensates rapidly accrete

3. Downwelling condensates
into a lunar seed

penetrate deep into the synestia

5.The synestia cools

6. The Moon grows by
and contracts

accreting condensates

7.The Moon grows
within the vapor
of the synestia

9. The synestia contracts
inside Roche and eventually
falls below the CoRoL

I .
8.The Moon separates
from the synestia



